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OdYZ H=sts 284 &
0,000,000& = 13| 60,000
OBY MENSUSE Bt L B4 =Y
80,000,000& * 13| 80,000
Odad: o2a MEMsUE 2t
15,000,000& = 13 15,000
OENEE d2Ha &It 4,000,000 = 13| 4,000
O&= 42 M=slal &It 15,000,000& 15,000
OMEH=s ss2EUs &It 10,000,000 10,000
06 282 10,000 10,000 0
OM=EU3 &I MdAEE
5,000,000 = 23| 10,000
HSEHM X& 98,000 93,000 5,000
307 2iz2to| A 93,000 93,000 0
02 QIZ2FA AAIE E X 8,000 8,000 0
OZYDHSSH YFSH 2Ll
8,000,000 = 13| 8,000
03 QIZIHEHESIEHIEX 85,000 85,000 0
OFYEZHM=E3 X3P 85,000,000& * 13| 85,000
405 XH&HF S HI 5,000 0 5,000
01 XAt = ZEF S HI 5,000 0 5,000
OFEZM=Es 237Y N
5,000,000 = 13| 5,000




2M: 2
X{ XH -
(=R B
el

o
SN FH-SA(EN) - MBAY - BES e HlnE2
SUR SEX2 236,000 210,000 26,000
307 gl2tol & 236,000 210,000 26,000
02 It M AHE L 236,000 210,000 26,000
O&UE &4 XA A 36,000, 000& 36,000
Oy KRR =4 NEZH 40,000,000 40,000
OFEZ S4I1sEsd XNAZH
45,000,000& 45,000
Osad =32u4a XA 5,000,000& 5,000
Ossn =784 N3 45,000,000& 45,000
Ozstn REEs4 A FH 10,000, 000& 10,000
Onsstn 324 XA ABH 55,000,000 55,000
ot MEHSXEX BX(2ESXH) 175,248 0 175,248
J| 76,824
[ia 98,424
307 21201 A 175,248 0 175,248
J| 76,824
e 98,424
02 LAFAAHEX 175,248 0 175,248
Ooggt M= A Ui X
2,134,000 * 6% » 123 153,648
J| 76,824
s 76,824
Oget MEXNSANEX EsHl EX
300,000 = 6% = 12& 21,600
H2d MENMSXAZX HX(ESKH) 233,664 378,912 A 145,248
J| 102,432
a 131,232
307 glz2+ol & 233,664 378,912 N 145,248
J| 102,432
A 131,232
02 YAFHAANGEEE 233,664 378,912 A 145,248
onza dEMsNZX BHXI
2,134,000 * 8H » 123 204,864
J| 102,432
2 102,432
ONZ4 MEMSAEXN &3H Bx
300,000& = 8% = 12& 28,800
MEHSHE X 8,000 8,000 0
= 4,000
i 4,000
307 glz2tol & 8,000 8,000 0
< 4,000
s 4,000
02 QIZtE A AHEE 8,000 8,000 0
OMetx=sa XA 4,000,000& = 23| 8,000
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SH: 2o
Y HSHES L AL

?4?: Msgs Nd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,000
s 4,000
dEds 2208 X2 14,792 14,792 0
< 2,937
s 11,855
307 glz2tol & 14,792 14,792 0
< 2,937
s 11,855
02 (It HAMHEE 14,792 14,792 0
OdaxsZ=zd 9,792,000& 9,792
< 2,937
= 6,855
Odedsns 222% =28 ¢
5,000,000& = 13l 5,000
MEH S WA 14,112 14,112 0
< 4,234
i 9,878
307 glz2+ol & 14,112 14,112 0
< 4,234
e 9,878
02 QB HAANEEE 14,112 14,112 0
Odarsus 2 14,112,000& 14,112
< 4,234
s 9,878
ZoHe MEMSE X 14,142 12,800 1,342
< 2,571
s 11,571
307 21201 A 14,142 12,800 1,342
< 2,571
[ia 11,571
02 It S AHEE L 6,142 4,800 1,342
OoFofel MES0el XI& (X AEoHer)
5,142,000 5,142
< 2,571
s 2,571
OFe M=&s XA 1,000, 000& 1,000
04 QIZFHALAIH E = 8,000 8,000 0
OHM20sl Z2adE HoHe MH=U It
8,000,000& 8,000
822 MU iz £ | X 360,000 200,000 160,000
307 glz2tol & 360,000 200,000 160,000
04 DI2HHALALSE E X 360,000 200,000 160,000
ORs) d= S8t EFU
210,000,000& * 13l 210,000
O&Xed | XA 80,000,000& 80,000
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EX: S3Hs
M Nse2ds YL Aldz
o9 HSEs Xe (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Of=, =2 Atz sX XA
70,000,000 70,000
2019 Y I8 ZoM=EU3 160,000 0 160,000
307 2Iz2t0| A 160,000 0 160,000
04 SIZ2HSHAAISH E & 160,000 0 160,000
Ozolo & I8 Zod<=Wtsa 160,000,000 160,000
29 ME=U3 50,000 55,000 A5,000
307 2iz2to| A 50,000 55,000 A5,000
04 QIZ2tSHAFAFS B X 50,000 55,000 A5,000
Oztdz MEM=UI 50,000,000 = 13| 50,000
HE0lo Bt SHAL 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
04 CIZ2tSHALALS B X 30,000 0 30,000
OHM=Qlo &t SHA} 30,000,000 30,000
g 222d 0fetE U3l 120,000 100,000 20,000
307 2I2t0| ™ 120,000 100,000 20,000
04 DIV ALAIRI B X 120,000 100,000 20,000
OXYE 22248 0tctE el
120,000,000& * 13| 120,000
224 8= IFEAU3 50,000 60,000 A 10,000
307 QI2t0| ™ 50,000 60,000 A 10,000
04 CIZ2tSHAPALS B X 50,000 60,000 A 10,000
OHBYURAM ®2 VAN el & Hatd+
CH &l 50,000,000 50,000
224U A= IS E 3 14,000 15,000 A 1,000
307 giztol & 14,000 15,000 A 1,000
04 CIZ2tSHALALS B = 14,000 15,000 A 1,000
OS2t BHEQUEHH S
14,000,000 = 13| 14,000
HEZ24H s =F E20U3I 14,000 15,000 A 1,000
307 2iz2to| A 14,000 15,000 A 1,000
04 SIZ2ISHAAISH E & 14,000 15,000 A 1,000
OFYR4H o 5428 =208
14,000,000& = 13 14,000
22t M2UHAAT XSG 14,000 15,000 A 1,000
307 2Iz2t0| & 14,000 15,000 A 1,000
04 SIZ2HSHAAISH E & 14,000 15,000 A 1,000
OFE 2L =2 HAAZXF
14,000,000& = 13 14,000
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2N 23H

=
M Nse2ds YL Aldz
©el: HSES N CERED
= - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
2HE24 K03 10,000 10,000 0
307 2Iz2t0| A 10,000 10,000 0
04 SIZ2ISHAAISH E & 10,000 10,000 0
OFEZLH 8% 10,000,000 10,000
G2 M2 HH 2 25,000 10,000 15,000
307 2iz2tol A 25,000 10,000 15,000
04 QIZ2tSHAFALS B X 25,000 10,000 15,000
OdEZ4) =2 HEHZZUS
25,000,000 = 13| 25,000
2SS AH =S50 HUuUA HE 10,000 10,000 0
307 2Iz2t0l & 10,000 10,000 0
04 SIZ2HSHAAISH E & 10,000 10,000 0
OzEgtat ot & ol HiLIAT S
10,000,000& = 13 10,000
HEZFEIEIIED] EF2U3 10,000 10,000 0
307 212t0| & 10,000 10,000 0]
04 SIZ2ISHAAISH E X 10,000 10,000 0
O¥EZEIE 3 =043
10,000,000& = 13 10,000
AN XA 82 S0E 203 120,000 120,000 0
= 100,000
= 20,000
307 QI2t0| & 120,000 120,000 0
& 100,000
= 20,000
04 CIZ2tSHALALS B X 120,000 120,000 0
OHN4zl Hage M= ZNSsM 22
CHal 120,000,000 120,000
o= 100,000
= 20,000
St HAUE HMESLUFAMY 14,000 15,000 A 1,000
307 QI2t0| ™ 14,000 15,000 A 1,000
04 CIZ2tSHAPALS B X 14,000 15,000 A 1,000
Ost- = AE HESUFAY
14,000,000 = 13| 14,000
PSS AE 42 20103 70,000 70,000 0
307 2izto| A 70,000 70,000 0
04 QIZ2tSHALALS B = 70,000 70,000 0
OIS AN HZ
5,000,0008 » 1454 70,000
&2 M= HE 70,000 70,000 0




AN 23HSD
3N M=gs & Ag2e

ool MSES X (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 70,000 70,000 0
04 DI2HHALALSE E X 70,000 70,000 0
Ooz=te M=sUal 70,000,000& 70,000
AZAHM0IEA KR 37,859 12,619 25,240
J| 26,501
< 3,786
i 7,572
307 glz2+ol & 37,859 12,619 25,240
J| 26,501
< 3,786
e 7,572
02 HAFHAANEEE 37,859 12,619 25,240
OAZ=2AHM0IEH X 37,859,000 37,859
J| 26,501
= 3,786
s 7,572
FE2E F3HY A 588,149 565,749 22,400
= 31,200
s 556,949
201 Let24d] 6,120 6,120 0
02 =24l 6,120 6,120 0
Oz22= & HA 1,120
—¥4Ezd ¥ g 22 1,120
At = XAl 80,000& = 13l 80
BZNERE S 20,0002 = 23| 40
28z 1,000,000 * 13| 1,000
Ot 2t g 5,000
~HIGRY Iy 22 L RE0
5,000,000& 5,000
301 et A= 582,029 559,629 22,400
< 31,200
i 550,829
V=t - 2SRES243 582,029 559,629 22,400
o¥gzd g1t 2¢ 522,400,000 522,400
= 31,200
s 491,200
OFg=Zd FRH AHEE 35,629,000& 35,629
o¥gzd g1t gA=s 24,000,000 24,000
HM=sAE 2tel 15,539,012 8,717,012 6,822,000
Xl 6,974,000
[ia 8,565,012
MEXsAE X 1,202,012 1,387,012 A 185,000
101 @124l 25,348 23,328 2,020
04 J12ZtHZ22EE =+ 25,348 23,328 2,020
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SH: 2o
Y HSHES L AL

S MFAIE 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oolgx=ssa 2 2tel 16,958
—Jl=s 51,7603 * 18 = 245¢ 12,682
—S=522f2=Y 51,760 « 1¥ » 52 2,692
—4HEE= 15,374,000& * 0.103 1,584
OO0IZHN=EZE S SHIJIAEY
99,8803 * 38 x 7 x 43| 8,390
201 Let24d] 27,744 27,744 0
01 At 22l 4,644 4,644 0
OgetgH| 4,644
— Ol =22 1,548
folZdl 249l 99,000& = 123 1,188
HLAEE & 7Y 72,000& * 53] 360
— g% 1,548
foEAH| 99,000&  12& 1,188
FA8F & 7Y 72,000& * 53| 360
—Qu=ZEE 1,548
o3| 99,000& = 123 1,188
4858 & 7Y 72,000& * 53| 360
02 2324l 23,100 23,100 0
Oz3&22= & HA 23,100
—olgH=ss2 S(HJzE, 458 )
5,500,000 5,500
—S0% MSAL (X2, 42 S)
2,000,000& 2,000
—SXNSEH(HIZ, 4258 )
6,500,000 6,500
-G (HIIE, 4xEE S)
4,600,000 4,600
—dNERH(HIZ, A4E2 5)
2,500,000& 2,500
- QuE ZE2ESH(FIIR E)
2,000,000& 2,000
202 04l 7,920 5,940 1,980
01 = LH Yl 7,920 5,940 1,980
OMSAIZES2el 165,000& * 4H » 123 7,920
401 Al& Bl 28I 1,141,000 1,315,000 A 174,000
01 A& HI 1,141,000 1,315,000 A 174,000
OEY O 23717 &X 35,000,000& 35,000
OEXNHUAE 22X HS 85,000,000& 85,000
OdANEZdalH =7 AX&C0 A
700,000,000& 700,000
OFEld2sE Olsastda i
20,000,000& 20,000
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2N
X ZH -
L= B

el

Z M = ot
HEgs % A&2e
HSAE 22

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLXNEsd 0lSASEA WX
53,000,000& 53,000
Oogaet2t 228 =4 120,000, 000& 120,000
OFEEZEE &l 100,000, 000& 100,000
OZstdt ME3¥ W 2717 Al
28,000,000 28,000
A3 HEANE TANE+ 70,000 70,000 0
401 AIEHIZL 2CHYI 70,000 70,000 0
01 A& Hl 70,000 70,000 0
OAE S8 MESAEE FANE=
5,000,000& » 145H 70,000
FYALXOLE 2| 1,587,000 1,770,000 A 183,000
401 AIEHI L 2 CHYI 1,000,000 1,320,000 A 320,000
01 A& HI 1,000,000 1,320,000 A320,000
OZYAZXIT OF2F ZYE &X(3,47%)
1,000,000, 000& 1,000,000
403 XIS E X201 & 500,000 450,000 50,000
02 SO 2SO S22 X HE At HI 500,000 450,000 50,000
O¥gAZ=IIa S AN GHE 2EHl XN
500,000, 000& 500,000
405 TtatF S 87,000 0 87,000
01 AL EFSFHSHI 87,000 0 87,000
OFEAZ=II &Cj2tel JAHFAY
87,000,000& 87,000
ANLMSALXN(HEAZ=0T &0 =4) 4,600,000 3,340,000 1,260,000
Xl 974,000
e 3,626,000
401 Al HIZ 201 8] 4,600,000 3,340,000 1,260,000
Xl 974,000
s 3,626,000
01 A& HI 4,600,000 3,330,000 1,270,000
OFEAZXIMS SHITEAEY
3,900,000, 000& 3,900,000
Xl 974,000
e 2,926,000
O X0 Hl 400,000,000 400,000
OFGAZXIT M8 X (&7 56772F)
250,000,000 250,000
OFEAZ=IZT Okt &S E JIXNM &X
50,000, 000& 50,000
NLHSALXNE(HEZE+2E HEY) 3,000,000 500,000 2,500,000
Xl 2,000,000
[ia 1,000,000
401 AIEHI L 20 3,000,000 500,000 2,500,000
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2N
X ZH -
L= B

el

Z M = ot
HEgs % A&2e
HSAE 22

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 2,000,000
s 1,000,000
01 A& HI 3,000,000 500,000 2,500,000
OXEzg+=gd 18 3,000,000, 000& 3,000,000
X 2,000,000
[ia 1,000,000
NLHSALXNI(HELUHHLAZ HE) 600,000 0 600,000
X 220,000
s 380,000
401 AIEHI L 201 600,000 0 600,000
Xl 220,000
= 380,000
01 A& HI 600,000 0 600,000
OFgAUHUAZ A 600,000,000& 600,000
Xl 220,000
s 380,000
NLHSALSXNE(FHESE S IEILAMY) 4,480,000 0 4,480,000
Xl 3,780,000
s 700,000
401 Al I 28I 4,480,000 0 4,480,000
Xl 3,780,000
s 700,000
01 A& HI 4,472,000 0 4,472,000
OFY S0 VVFZIE ZHAL
4,472,000,000& 4,472,000
Xl 3,772,000
s 700,000
03 AIE 2 0HHI 8,000 0 8,000
OFY R0 FHASTZ THAY
8,000,000& 8,000
Xl 8,000
HE2LAZH (2SS ) 65,756 63,096 2,660
A 2AHI(23M= ) 7,140 5,880 1,260
eI (23 M=) 7,140 5,880 1,260
204 MR FH| 7,140 5,880 1,260
02 22 =4l 7,140 5,880 1,260
OFEZF(A2) 7,140
— 234 0l & 140,000& » 29 » 12& 3,360
— 234 0|gt 105,000& = 3H = 123 3,780
Jl2ddl(2stds) 58,616 57,216 1,400
Jl2Ztl(2stds1) 58,616 57,216 1,400
201 Let24d] 27,416 27,416 0
01 At 22l 27,416 27,416 0
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2AM: 2=
H: HM2AHH (2}ASH)
@2 JI2ZH (2= (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oget+=gH| 9,200,000 9,200
O= &l 6,000& * 23¥ * 11 * 12& 18,216
202 (4] 25,800 23,400 2,400
01 2L Y] 25,800 23,400 2,400
OJ)I=2ge=d 50,000 » 23Y * 128 13,800
OFAZZE 200,000& = 5% = 12& 12,000
203 PR =&lY| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORA2IELERFAH| 350,000& * 12& 4,200
204 &2 =2 F H| 1,200 1,200 0
01 M SLRHAH| 1,200 1,200 0
OX#ZHIRE S AH| 100,000& = 12& 1,200
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